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QUESTION 1

The system is having trouble and the engineer wants to bypass the usual /sbin/init start up and run /bin/sh. What is the
usual way to pass this change to the kernel from your boot loader? 

A. Start in runlevel 1. 

B. Pass init=/bin/sh on the kernel parameter line. 

C. Pass /bin/sh on the kernel parameter line. 

D. Pass start=/bin/sh on the kernel parameter line. 

Correct Answer: B 

 

QUESTION 2

Which SysV init configuration file should be modified to disable the ctrl-alt-delete key combination? 

A. /etc/keys 

B. /proc/keys 

C. /etc/inittab 

D. /proc/inittab 

E. /etc/reboot 

Correct Answer: C 

 

QUESTION 3

Which of the following commands are common Linux commands for file management? (Choose three correct answers.) 

A. copy 

B. mv 

C. move 

D. cp 

E. mkdir 

Correct Answer: BDE 

 

QUESTION 4
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Which of the following commands brings a system running SysV init into a state in which it is safe to perform
maintenance tasks? (Choose TWO correct answers.) 

A. shutdown -R 1 now 

B. shutdown -single now 

C. init 1 

D. telinit 1 

E. runlevel 1 

Correct Answer: CD 

 

QUESTION 5

After successfully creating a hard link called bar to the ordinary file foo, foo is deleted from the filesystem. Which of the
following describes the resulting situation? 

A. foo and bar would both be removed. 

B. foo would be removed while bar would remain accessible. 

C. foo would be removed. bar would still exist but would be unusable. 

D. Both foo and bar would remain accessible. 

E. The user is prompted whether bar should be removed, too. 

Correct Answer: B 
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